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| rate/cell by tray ID, nHits/tray/ev>25
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nHits/ev, ToT range

10

10°

10

10°

10

10

=

O_II||| I |IIII||] AL

.ﬂﬂ”.ﬂﬂfﬂ...H...ﬂﬂﬂl..ﬂ.l.ﬂ..ﬂ.ﬂlﬂ....l

1
100

nHits/tray/ev, ToT range |

300

400

500

600

700

800

00

10°

10
10°
10°
10*
10°
2

10

10

°]1bn|i Ty ||||mv!..L|_||| [ TR

7 =




t-t ., NHits/tray/ev>25

t-t.,, VS module, nHits/tray/ev>25 t-t_,, vs rel module, nHits/tray/ev>25

450

[
o.

400

IIIllll,Illlll

350

[
Q.

102:—

105— 10
1
:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII 1111 l
0 50 100 150 200 250 300 350 400 450 500

t-t.,,, NHits/tray/ev>25

20(

10(

10°

5 10 15 20 25 30 35 40 45 50




Vs rel module, nHisiraylev>25, by iMear t_vs rel module, nHitshiaylev>25, by iMear Vs rel module, nHisiizaylev>25, by iMear Vs rel module, nHitsiraylev>25, by iMear it vs rel module, nHitshiaylev>25, by iMear e Vs rel module, nHisfiraylev>25, by iMear L vs rel module, nHisiiaylev>25, by iMear t_vs rel module, nHitsiiaylev>25, by iMear
o e m 5 | e ,., o

20




ToT

10°

10

10

[N
IIII|

0

100

200

300

ToT vs nHits/tray/ev

400

500

600

700

800 900

1000

100

150

200

250

10°

10

ToT TOF

35000

30000

25000

20000

15000

10000

5000

o

o

al

10 15 20 25 30 35 40

ToT, nHits/tray/ev<10 |

0.08

0.07

0.06

0.05

0.04

0.03

0.02

0.01

O | I T -

10 15 20 25 30 35 40



Rate (Hz) vs (BL,strip-posn), Run=16018002
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